FIRST REVISION TEST - ?024

Standard X RegNo.f | TT T 1]

MATHEMATICS
Time : 3.00 hrs - Part - | Marks : 100
. Choose the correct answer: | 14x1=14
1. If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a,b)is
a) (2,-2) : D) (5,13) oy (2, 3) &y (3,-2)
2. Iff(x) = 2x and d(x) = 13)( then fog is
/ ke 1
2, 2 |
) } éxz D) / 3x? & ,:‘"/9:(2 d) /En'(2
3. The sum of exponents of the primﬂe factors i the prime factorization of 144 is
a) 4 , b) 5 g} 6 d) 3
4 An A P consists of 31 terms. If its 16" term is m, then the sum of all the terms of this
APIs /,,f‘
a) 16m b) 62 m c) 3% m @ 31 m

5 If ax2 + bx + ¢ = 0 has equal roots, then c is equal to

o) b, b’/b%a S _ b
s L3N =S 7
6. Forthe given matrix A=12 4 6 B |iheorderof the matrix AT is
49 11 13 15, y -
a) 2xf3 b) 3x2 c) 3x4 AS
7. Ina AABC, AD is the bisector of ZBAC.IfAB=8cm,BD=6cmand DC=3cm. The
- length of the side AC is | 2N | |
a) 6cm Am | c) 3cm | d) 8 cm
8. The slope of the line joining (12,3), (4,a) is % . The value of ‘a’ is '
a): 1 | b) 4 c) -5 dr)/Z
9. Two straight lines a;X + b,y + c. = 0 ang a,X + b,y + ¢, = 0 where the co-efficients are........
non-zero, then the condition for perpendicular S
a) a,b,—a,b=0 b) a,8,—b,b,=0
| ﬁ/ajaz"'b1b;=0 d) .'z'i'=£}1'. *
10. tan0 cosec?d - tanf is equal to f
'a) secd b) cot?p c) sind 54
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11. The curved surface area of a right circular cone of heig:]ht 15 cm and base diameter

16 cm is

a) 60 n cm? b) 68 m cm* C) 120 7t cm? dy 136 n cm?
12.. A funnel has the shape of the combination of :

d) acone and a cylinder b)" frustum of a cone and a cylinder

c) a sphere and a cylinder d) frustum of a cone and a hemi phere
13. The range of the data 8, 8, 8, B aniass 8 is

ay” 0 b) 1 c) 8 Y3

14. Whichof the followmg IS mcorrect'?

a0V S __ b)/(i‘: p(A) < 1

c) P($)=0 A)+P(A) =1

Part - i
II. Answer any 10 questions. (Q.No.28 is compulsory) = 10X 2=20
15. IfAxB={(3,2), (3,4), (5,2), (5,4)}, then ﬁndAan'd B,

16. Find k if fo f(k) = 5 where f(k) 2K — 1
17. Find the greatest number that will divide 445 and 572 leaving remainders 4 and S

respectively.

1 |
18. Find the sum 3 +1+ S o

| | _A__(049] il g 38
[ | Fmdthevalueof3A OB if 8 3 7 and —\1 4 9

20. If AABC ~ ADEF such that area of AABC is 9 cm2 and the area of ADEF is 16 cm2 and

BC = 2.1 cm. Find the length of EF.
21. Aman goes 18 m due east and then 24 m due north Find the distance of his current

position from the starting point.
22. Find the equation of a line passing through the polnt (3,-4) and having slope - /7

23. Prove that sech — cos6 = tan6 sind

24. If the base area of a hemispherical solid is 1386 sq m, then find its total surface ares

25. An aluminium sphere of radius 12 cm is melted to make a cylinder of radius 8 cm. Flnd
the height of the cylinder.

26. Find the range and co-efficient of range of the following data :

25,687,48,53, 18, 39, 44
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27. IfP(A) =0.37, P(B) = 0.42, P(A~B) = 0.09, then find P(AUB).

2
28. Find the excluded value of the expression A Sl

X2 4 % ~ 2

Part - ll]
lll. Answer any 10 questions. (Q.No.42 is compulsory) ~  10x%x5=50

29. LeiA ={1,2,3,4} and B ={2,5,8,11,14} be two sets. Let f : A—>B be a function given by
f(x) = 3x = 1. Represent this function
1y by arrow diagram ‘ i)~ in a table form
i) as a set of ordered pairs iv) in @ graphical form

30. Find x if gff(x) = fgg(x), givenf(x) =3x+1and g(x) =x+ 3

31. Thesumoffirstn, 2n'and 3ntermsofanA.Pare S, S, and S, respectively. Prove that
S, =3(S,-S,) |

32. Rekha has 15 square colour papers of sides.10 cm, 11 cm,12cm ........ 24 cm. How
rhuch area can be decorated with these colour papers?

33 |f Ox4 + 123 + 28x2 + ax + b is a perfect square, find the values of a and b

3 A
‘ 34 lfA [ 1 2} showthatAz—ESAfTIfO

I T e

o — — Y

35. State and prove Thales theorem.

36. Find the area of the quadrilateral formed by the points (8,6), (5, 11 ), (—'5312) and (—413).

37. A line makes positive intercepts on co-ordinate axes whose sum is 7 and it passes
through (-3, B). Find its equation. ' |

1+tan A [1 tanAJ
1+cot2A 1-cotA

38. Show that

39. From the top of a 12 m high building, the angle of elevation of the top of a cable tower

is 60° and the angle of depression of its foot is 30°. Determine the. helght of the tower.

-

“  40. Acapsule ls in the shape of a cylinder wrth”Mo hemlsph
‘ If the Iength of the entire capsule is 12 mm and the diameter of the capsule is 3 mm,

2 how much mednpme it can hold?

Kindly send me your answer keys to us - padasalai.net@gmail.com
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- V. Answerall me -questions_.‘_

b
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"',tstothe clrcle from that point. B ;. o
IeAPQR such that QR 5, cm, £P =30°and the altltude from %
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